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e Text: Umlaute & fonts:

rm: Aqiidteer abcABC00, 123-4546.0%8,
it: Aqiidter abcABC00, 123-45+6.0%8,
sf: Aqiidtoer abcABC00, 123-45+6.0%8,
tt: Aqiiiter abcABCOO, 123-45+6.0%8,
cal: Aqiisitoer abcABC00, 123-45+6.0%¢,
scr: Aqiisiteer abcABC00, 123-45+6.0%8,
bb: Agiisiteer abcABC00, 123-45+6.0%8,
frak: Agiidtoer abABEOO, 123:4546.0%S,

e text: Umlaute:AzAdAdAaAzAZA AARBeCeEseL106000606060¢EaeSsBUiUnUGUa U

e math: Umlaute and fonts
rm: Aqiisiteer abcABC00, 123-45+6.0%8§
bs: AgiidtcerabcABC00,123 — 45 + 6.0%5, ,
it: AgiidtoerabcABCO0, 123 — 45 + 6.0%5,
rm: AqiidtcerabcABC00, 123 — 45 + 6.0%8,
sf: AqiiateerabcABC00, 123 — 45 + 6.0%8,
tt: AqiiitoerabcABCOO, 123 — 45 + 6.0%8,
cal: AIIFAUeVH| | ABC 1, coes — Ay 4 /%S,
ser: Foed BE, — + %8,
bb: AiED~e\DABCHHA, WK — A4 + 4K%S,
frak: ﬁlqﬁ'citoetabc%l%@o, 123 — 45 + 6.0%8



text: abcl23+d/e
textit: abc123+d/e
textbf: abcl23+d/e
math: abcl23 +d/e
mathrm: abcl23+d/e
mathit: abc123 + d/e
mathbf: abcl123 +d/e
mathfrak: abc1234+0/e

:UHq(((((

std dev:

= i=1
std dev 2:
1 al (Y
or = ((x = (2))?) = N_1 ( i N (le> )
i= i=1
rotation matrix:
cos(a) +n2 - (1 — cos(a)) ng - Ny - (1 —cos(a)) —ny -sin(a) ng - n, - (1 —cos(a)) + ny - sin(a)
M(a) = | ng - ny - (1 = cos(a)) +n; - sin(a) cos(a) + ng - (1 — cos(a)) Ny -ny - (1— cos( )) — ng - sin(«)
ng - (1 —cos(a)) —ny - sin(a) n,-ny - (1 —cos(a)) + ng - sin(a) cos(a) +n? - (1 — cos(a))



like in label at bottom (no MM):

([\/2 e dD
([\/2 s dD

7RG -~ X0 — —i X0 — —7X0 — —eX -~ X9 — —i X0 — —gX - —TX) — —aXd— —TX D

like in label at bottom (MM):

decoration:

mathtest: .
This is normal text: thisismath : (r2(r)) = ((F(t) — Ft + 7))2)  g(r) = & - (1 + %ﬂﬂﬁ) UTO{@|lals > 2} 7R
Ty
= —
VI, Byt . 1 T
\/ EQE(; ! arg ming E%:o fmol ((())) Hai} . 2] underbraced text A - - %,tT V- Y) xNoZ
—_———
(2(r) - Bt + 7)) aprocraen | [V |
chi2 test:
N A 2
P = argmax x> = argmaxz fi= fwip)
v P i

upper /lower parantheses test:

1 1 : 1
bblablag - (ex_i_e—w) ' (;jﬁ) . exp [—i} $eXp [_ ]

Yy
NG

NI



ACF test:

MSD test:

math: blackboard:

math: bf:

math: rm:

math: cal:

subscript test:

subscriptO test:

subscriptl test:

subscript2 test:

subscript3 test:

N|=

= b (1 200) 7 (1 20000

MSD(7) = (r2(7)) = ((F(t) — 7t + 7))?) = 2n - ——2— .7

ABCDEFGHIJKLMNOPQRSTUVWXYZI#F
ABCDEFGHIJKLMNOPQRSTUVWXYZ120
ABCDEFGHIJKLMNOPQRSTUVWXYZ120
ABCDEFGHITKLMNOPQORSTUVWXY Zooe!
23 T1
r123
r123

r123

12371
2



superscript test:

superscript0 test:

superscriptl test:

superscript2 test:

superscript3 test:

asuperscript test:

asuperscript0 test:

gsuperscriptl test:

gsuperscript2 test:

gsuperscript3 test:

frac test:



o tfrac test:

e dfrac test:

e stackrel test:

e brace5 test: ()

e brace6 test: [ |

e brace7 test:

e brace8 test:

e brace9 test: — —

e bracelO test

e bracell test: floor

2 2
p+i-§ -4
b2
a+g 2 g2
b a b 1
b2
2 “?

a
b+a— b2 b

(((-9))) ==
(™10 = -
{H{r*1) - -
211 = =
171 ==
{{™)]} ==
L] ==

[[1]]
{{r*}}}
(HTEes il
il
{{-")]}
L]



bracel2 test: ceil

sub-, superscript test

super-, subscript test

math 1:

math 2:

math 3:

math 4:

math 4:

[T = = [

1234, 1234 12341234 2 2
T321 T321 — —T321 T321 — =K — —K2— —Rg
123 123 123 123 2 2
7432174321 — — 7432174321 — =R — —K2 — —Kp
z 2
f(x) :/ e ¥ dt
— 00
& _e’iﬂ
2n
i=1
n—1
1 =z ... = .
1z ... x5~
det . . . . - H (%j — xz)
o : 1<i<j<n
1 z, ... an!

Myl 1+ 1+\/1+\/1+\/1+\/1+93

w
w

3 -
M 1+\1+\/1+{’/1+€/1+\3/1+x



math 4:

math 4:

math 4:

math 4:

math 5:

math 6:

math 7:

math 8:

math 9:

MV1I+ X1+ X351+ X

1 1 1 1 /1
— — — — —++1
2+ 2+ 2+\/2+ 2+ +x
ﬁ\ﬁ
My aY=./=
\/6\/6 a

P\ 9 opo 1 1
(2)—1‘3/ 1—xz1— 22




math 10 (overbrace):

math 11 (underbrace):

math 12 (under/overbrace):

math 13:

math 14:

math 15:

math 16:

math 17:

——
T+ x4+ ..+ xk times

T+ x+ ...+ xk times
N—————

—— ——
r+x+..+xktimesx +x + ... + z k times 2k times

"
Y1

1/3
2/3
0

fz) =

"

Y2

fo<z<1
if3<xr<4

elsewhere

0+

2

Rz =

&)

+llo
2g

B\?%
1)

m2n

Zng(m3n+n3m)

m=1n=1

1 /°° sin(kR) 0
0 kR OR

[RQW] dR



math 18:

math 19 (overset):
flz + Az) - f(z)
Az

= = — —
Xdefy XY XfY Az — 0f'(z)

math 20 (underset):
f(z+ Az) — f(x)
Az

Xdef (5)Y X[fY Az > 0f'()

axiom of power test:

VAIPVB[B € P < VYC(C € B= C € A)]

De Morgan’s law: =(P A Q) <= (=P)V (=Q) or (;c; Ai = U;e; Aior AUB=ANB

quadratic formula:

. —b+ Vb2 —4ac
- 2a

combination:

B _

<n> _ n(n—1)..(n—k+1) _ n!
k(k—1)...1 kl(n —k)!

Sophomore’s dream 1:

1 )
/ z %dxr = E n_”(:1.29128599706266354040728259059560054149861936827..A)
0

n=1

Sophomore’s dream 2:

1 00 )
/ ¥ dx = E (—1)" Tl = — E (—n) ™" (=0.78343051071213440705926438652697546940768199014...)
0
n=1 n=1
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divergence 1:

divergence 2:

lim, sum ...:

Schwinger-Dyson:

Schrédinger’s equation:

Cauchy-Schwarz inequality:

Maxwell’s equations:

L QU oV oW
div F = VF_ax+8y+az

8€zz + 85?41 aezz

div (e) = 86” + dew + 8621’
a dem + aeyz + 8ezz

100
i g = (1) +§ L+ {132’7}
(O |T{F '} ¥) = (¢ |T{iFiD” — FSins i D7}| ) .

n? 02
[_ —2m da?

B_fi_
VX c Ot c
V-E:Zlﬂp
. 10B .
VXE +-—=0
x +c@t
V-B=0
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e math: radicals:

quﬁﬁﬁ\/g\/ﬁ\/j\/z£1llil ! Va++vVa+b

1+ 2

e math: non-2 radicals:

o : S3/1 % 1 1 /
qu(‘/&{s/gxs/lww\g/i\/& 3 T—— Va+ Va+b
(I% 1+E 3/1+l

e math: long non-2 radicals:

H:L'q 3'1415% 3A1415\6/5
e math: sum, prod, ...: no-limits:
n (&
quHZ(l +7) =
i=1j=1
—  limits: o e
1
H ). =
I3+
=1 j=1
— long-below:
>, f@
n:{a7b7c7d7e7f7g}
— long-above:
n:{a7b7c7d7e7f7g}
>, f@)
e math: more sum-symbols :
N NN NNNNN N N N N
i=0 =0 i=0i=04=0i=04=0i=0 i=0 i=0 =0 =0
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. N TN 118 IV AN [ IV \/N AN mN N AN N
e math: more sum-symbols, no-limits : Huq ) ;"o [TiZo [Tizo Uizo Mizo Lizo Vizo Aizo Bizo Qizo Oi=o Wizo

e math: integrals: no-limits:

qu/o1 f(z) da //01 f(z) dx //01 f(z) da 5{%1 f(z) dx /mf(x) dz
f(z) dz /]f(a:) dz //1 f(x) dz y%f(a:) dz /f(a:) dz
0 0 0

xT

—  limits:

o —

e math: frac test: 2 9

S|

a g a

b T TR

S
[SIE

e sfrac: Hxq %o -~ Huxqs 1/2 2_% o412 12+1 5i7/2 'l
2

e brace+sub/superscript: {Eps-(r2(r133)

e math: quadratic formula
—b+Vb? — 4ac

2a

L1/2 =

13



